—=XHY
T & 7oAl Al b B E| B ZE
EEtLT =x 1
+ T = 1
fEH L5 m3 1,530 | 1,533
737 + 5 m3 150 145
BR 8. FHAL m3 90 93
ERAEEL FAL m3 120 | 118
ERPREE L FAL m3 210 | 208
KIERNET m3 1,320 1,316
ity m3 1,320 | 1,316
EET = 1
PtEET m2 20 15
BrAET m2 110 105
EFEAT m2 110 11
E R MF-45R-20/E1 % S LAk m2 10 9
5RYIAY U~ T 18-3-25BB t=10cm(ByEEa o y— )| M 18 18
Hk#EEMT =® 1
HEKT =® 1
EEAEO 17E300A m 145 | 145.0
U=i& (2) U300B m 34 | 33.7
EET (1) B3 ¢ 200 m 11 11.2
BEET (2) &% ¢ 300 m 1 6.5
EET (3) & ¢ 600 m 25 | 25.0
EEET (1) 138300 ® 276 | 276
BSET (1) 300/ 4B T-2 " 14 14
HET (1) IJOUASEEERIOys (EgR] | M 175 | 175.0
HET (6) BT SEEER IOy EEH RE) m 22 21.6
HEIL ) BETHSEEER IO v (BYRRE] m 2 1.8
HET (8) BT SEEER IOy Y [RARRE] m 20 20.4
SKk#HT =® 1
£k (11 5130 1 1
£k (12) 513l 1 1
£k (19) 513l 3 3
£k (21) [E513i0 2 2
HEH (1) LEEY LI 4 B 4 4
PEEET =® 1
Jay S EIQ) i 1] L=36.8m
Jovy BT 1:0.4 ZE2>10cm m2 74 74.2
BAM| EwEHS v r—35 2 RC-40 m3 18 17.7
XL 2% 18-8-25BB m 37 36.8
AT 2R 18-8-40BB m 37 36.8
N 1= D2 AT R J¢)) 18-8-40BB = 1 1
N 1= AT R ) 18-8-40BB = 1 1
kI U—FT 18-8-25BB_t=10cm m3 1.6 1.6




HERER
—XHy
T & 7oAl Al b B E| B ZE
Jov o EIE) =% 1] L=18.9m
Joy T 1:0.4 ZE2>10cm m2 31 31.4
T BAEYSvIv—F > RC-40 m3 6 6.2
RipT 28 18-8-25BB m 19 18.9
HBWT 2R 18-8-40BB m 19 18.9
MOkILS Y= FIE) 18-8-40BB # 1 1
IN=I= D2 RN 4 () 18-8-40BB # 1 1
waAVO)—FI 18-8-25BB t=10cm m3 1.2 1.2
BHEEM T = 1
M T = 1
SRR | +chggsn 4B — L H-1100 R/S3m| M 68 67.5
SET = 1
HET =® 1
KETI (HE) BAZMEFZAa>(13) t=bem | M2 , 200 2,198
KEI (HE) BAEBHEFZ A3 (13) t=3cm | M2 731 731
HEET BAMMEZ RT3 (20) t=bem | m2 2,200 2,198
LRERET HEEAEME M-30 t=15cm m2 2,200 2,198
TERET BE4EYARA RC-40 t=35cm m2 2,200 2,198
BT BAYIARE RC-40 t=10cm m2 731 731
FEEET m2 ,390 2,392
wmry<ouomez) MO8 2R m2 74 74
REHRT = 1
E#RT = 1
AR X E R B8 W=15cm m 590 591
A X ER BEaEER  W=15cm m 97 97
A X ER B W=30cm m 20 20
AR EER EIRgSS W=30cm m 110 110
AR EER B4 (1 7°5)  W=45cm m 210 214
ARARKER |54 (K0 - 28 - XF)W=15cmifi m 340 336
BT = 1
BT R ET =% 1
KRR Fa—UBEIN) BE{+= H=400 N 10 10
R RI—UBET Q) BEf=X H=800 X 4 4
RSB UERET el
mE RSt (BEfHR) SBBNWRIZERLUE| @& 44 44
WESR IOV T = 1
HWEER IOV T ARE B120 x H120E %I 8 m 37 37
TR T =M 1
TR LR T m 37 37
BRAT = 1
ERMHZETL n i 14 14




HERER

—Ly
T & Al Al b By E| B ZE
BET =® 1
BEYHET = 1
BEYIET BHaLsy—F m’ 25 24.5
R FAI7I)L L& t=10cmF | ni 1,830 | 1,830.0
SRR ) B 7RI 7L hE%E t=15emLl T m 46 45.8
ROEHRLE T FRI7ILk m’ 89 89.0
s U—F m° 25 24.5
EIRAS T m 0.1 0.1
XE#HHEETL 15cmifa & m 69 69.4
EHT T URAEE - LHT L=38m i 1 1
EIREREALTREER T £ 1 1
PHEEMEE T = 1
PrEEMig - 5T B &4 (Gr—C-4E) m 53 52.7
H— KN4 T m 9 8.6
IS R4 RSB HRO. StEBL. 1tUT | [ 1 0.9
FEAREFREIRET = 1
KA ARRAR EREEET m 1,270 | 1,268.0
HREAR R IR ARARE 5 1 1
8 & Y 30cmk i & 23 23
8 Y 30cmil & 16 16
295y FEHELE A95vF H3 t 0.9 0.9




T IHE KRR
= Fi R & Bl E| M =B
T T = 1
HRH T8 m3 1,533
KR T8 m3 145
R TR, RRAL m3 93
BRiAREL AL m3 118
BRREET AL m3 208
L ERNET m3 1,316
ity m3 1,316 | BEas i
RET = 1
Y LAET m2 15
BEAET m2 105
BFHAT m2 11
MBE<Y bT MF-45R-20] % & LA b m2 9
Y — kI [8-8-25BB t=10cm(BFEa >4 — k) m3 18




+*+ I & & & & 1LY
%4 g B g =® B =2 B4
T
ERITEHEED LY
£ Hl 1,532.8 1,532.8 1,533 m3
7 b 145. 1 145. 1 145 m3
R 92.6 92.6 93 m3
(FRAL)
BRITEHEEQ &LV
IR L 118. 1 118. 1 118  m3
(FRATL)
R 207.8 207.8 208 m3
(FRAL)
A ERIE |1, 532, 8+145. 1-(118. 1+207. 8) /0. 9 1,315.8 1,316 m3
B hh 1,315.8 1,316 m3
FEET
EBRTEHEEOQ WD &Y
YtiEmER  (LAI+RE
8.8+6.4 15.2 15 m2
ELriEmER 48]
105. 2 105. 2 105 m2
EFEf 48]
111 111.0 111 m2
WmE<y b+ MF-45R-20E1 & & Ll E
{81 (No9~No10)  R{&l (No8 ~No10)
3.0+6.4 9.4 9 m2
oo y— kI (LEAI4+RAEI
(18-8-25BB) (166.8+16.4) x0.10 18.3 18 m3
(t=10cm)
BEaT)— )
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KT #% & & 5t %
% 5 R 1% Bl % =2 |#H =
#eKT = 1
FEEAE ) 17E300A m 145.0
U=Fi& (2 U300B m 337
EET ) B 1% ¢ 200 m 1.2
EET (2 B 1% ¢ 300 m 6.5
EET Q) £ 1% ¢ 600 m 25.0
BIEET () 138300 ® 276
HEET (1) 300/ #HE T-2 W 14
#ET (1) IJOUSEERER IO VY m 175.0 EER
#ET (6) REITbSEEER IO YY) m 21 6 | BERRE
HETD) RS 5EERR IO Y Y m 1 g | MORRE
HET@®) RS SERBER IOV Y m 04| EARH
SRk T =X 1
Sk an wiR 1
EZ/ L (2) wiR 1
EZ/ L a9) iR 3
E2/ L @) i 2
#EH (1) EEEY L7 il 4
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S

Gl

=&
g/nR

38 x| "
4 71 - B ] # =
B P
EEAAGEQ)
1#2300A No. + 14, 5[No. Z | m 105.5
No. No. 1.5l &5 | m 11.0
No. + 11.5[No. 125 &5 | m 21.0
No. + 12.5[No. A2 m 7.5
§ m 145.0
Ui (2) No. 13. 4| No. 13.6] £ | m 20. 2
U300B
No. + 14, 0[No. 55 # | m 11. 1
No. + 11.5 A m 1.2
No. + 12.5 A m 1.2
& B m 337
EET() No. + 14,0 Z | m 2.8
E11E ¢ 200
No. + 10.7 Z | m 2.8
No. + 10.5 Z | m 2.8
No. + 10.5 Z | m 2.8
=1 it m 12
BT (2)
Et& 300 |No. + 14,4 Z | m 6.5
BT (3)
BHEH600  |No. + 9 9[No. 16.8|&£4A| m 25.0
AEZEIT ()
EEREIEZE 178300 | No. + 14, 5] No. | & 201
No. No. 11. | & 21
No. + 11.5[No. 12.5| & | & 40
No. + 12.5[No. a2 | &% 14
AN
= T 276
MAET ()
2B Z300 [No. + 14.5[No. # 10
e 1-2
No. No. 11. ® 1
No. + 11.5[No. 12. #® 2
No. + 12.5[No. # 1
AN
= T 14
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i
Gl
rﬂHiIf

il x ‘
% g B A B 2
=i E =
HET (1)
o ft No. 1 + 13.0|No. 2 + 170l £ | m 14.0
SHEERERIAYY
RER No. 3 + 15 6|No. 4 + 13.6] £ | m 18.0
No. 4 + 14 5|No. 5 + 10.5| &FZ | m 16.0
No. 5 + 11.0|No. 7 L]l m 29.0
No. 7 + 1.0/No. 8 + 100l £ | m 29.0
No. 8 + 11.0|No. 10 E |l m 29.0
No. 8 No. 10 Elm 40.0
2 =
= " m 175.0
HETI (6)
SEEERIOYY [No. 1+ 2.4[No. 1 + 130l £ | m 1.4
BHi5iTH
FHER RE No. 2 + Z7.1[No. 2 + 12.5| &FE | m 6.0
No. 3 + 11.4|No. 3 + 156l £ | m 4.2
& Ao m 21.6
#HET D
SEEZERIAYY |No. 1+ 1.8[No. 1 + 24 £ | m 0.6
BHi5iTH
MUE RIEB No. 2 + 12.5|No. 2 + 129l &E | m 0.6
No. 3 + 10.8[No. 3 + 11.4] 22 | m 0.6
G Bom 1.8
#HET 8
SEEHEFIOYY [No. 0 + 19.3|No. 1 + 1.8l E | m 6.0
BHi5iTH
EAR R No. 2 + 12.9|No. 2 + 14.8| E | m 4.8
No. 3 + 3.4/No. 3 + 10.8] Z | m 9.6
o = m
ok - " 20.4
an
No. 4 + 14.4 £ | & 1
(12)
No. 4 + 14.4 & | HFRr 1
(19)
No. 3 + 13.4 £ | & 1
(19)
No. 8 + 11.5 £ |&r 1
(19)
No. 9 + 12.5 £ | & 1
(1)
No. 8 + 11.5 £ | & 1
(21)
No. 9 + 12.5 £ | & 1
& B 5 7
#HEM )
JL—Foy E&EB|No. 4 + 14.0 & | EHFr 1
No. 5 + 17.0 & | EHFr 1
No. 7 + 0.5 & | EHFr 1
No. 8 + 10.5 & | EHFr 1
= B 13 4
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B I % = Nl
% 5 R 1% Bl % =2 |#H =
avsy—rJOysET =X 1
JOyY#EIQ) = 1 L=36. 8m
JovyyET 1:0.4 ZX2>10cm m2 14.2
FiA# BEYVSvyvy—3 2 RC-40 m3 17.7
KigL 2% 18-8-25BB m 36.8
HET 28 18-8-40BB m 36.8
MAka Y1 )—FIE) 18-8-40BB = 1
MAkary 1 )—rI @) 18-8-40BB = 1
w®IAVIU—FI 18-8-25BB t=10cm m3 1.6
JOvIEIE) = 1 L=18. 9m
JOovyiEL 1:0.4 %E2>10cm m2 31.4
RiAM BEYV Sy v—F 2 RC-40 m3 6.2
KigT 2% 18-8-25BB m 18.9
HET 2% 18-8-40BB m 18.9
MAkaVY 1 )—FRI(B) 18-8-40BB = 1
MAkaY1)—RI(6) 18-8-40BB = 1
w®IAVIU—FI 18-8-25BB t=10cm m3 1.2
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B 8 B OF
A x
% W B g | &
B P
Joyv o #EI(2) [No. + 9.9|No. 5 8.8] & m 36.8
Joyv oI Q) [No. + 11.3[No. 8 11.2| & m 18.9
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aVvy)—+r7JRvoEQ B OE B 1KLY
Jov Y 1:0.4 3 >t=10cm
(%= % 35cm) L= 2.90+5. 60+4. 70+5. 50+10. 00+5. 60+2. 50 = 36. 80 36.8 m
A1=1/2x (2.96+3. 06) x2.90 = 8.73
A2=1/2 x (3. 06+2. 56) x5.60 = 15.74
A3=1/2x (2.56+2.00) x4.70 = 10.72
Ad=1/2 x (2.00+1. 86) x5.50 = 10. 62
A5=1/2x (1.86+1.62) x10.00 = 17. 40
A6=1/2x (1. 62+1.46) x5. 60 = 8.62
A7=1/2x (1. 46+0. 46) x2.50 = 2.40
YA = 74.22 74.2 m2
ZiAav))-+
(18-8-25BB) | V= 74.22x0.10 = 1.42 7.4 m3
7.42/74. 22 = 0.100 0.100 m2
=By o V1= 1/2x (0. 88+0. 92) x2.90 = 2.61
(RC-40) V2= 1/2 % (0. 92+0. 69) x5. 60 = 4. 51
V3= 1/2x (0. 69+0. 46) x4.70 = 2.70
V4= 1/2 x (0. 46+0. 40) x5.50 = 2.37
V5= 1/2 x (0. 40+0. 31) x 10. 00 = 3.55
V6= 1/2 x (0. 31+0. 26) x5. 60 = 1.60
V7=1/2x (0. 26) x2.50 = 0.33
A = 17. 66 17.7 m3
B th 4t
(T7244pt=10) A= (2.96+2.56+1. 86+1. 62+0. 46) x 0. 45 = 4.26 4.3 m2
XigT 2% L= 36.8 = 36. 80 36.8 m
(18-8-25BB)
HE@T 28 L= 36.8 = 36. 80 36.8 m
(18-8-40BB)
pagkavsy—rz@ [ N= = 1 1 =
18-8-40BB
sogavsy—rz@ | N= = 1 1 =
18-8-40BB
Eavs)—rI| A= 36.8x0.42x0.1 = 1.55 1.6 m3
18-8-25BB
t=10cm ‘ALY —h
18-8-25BB t=10cm
UZFi#(2) U300B




avy)—+rJnyoEQR B OE 1241y
% b Hi =1 = M = |HfiL
JRvyiE 1:0.4 3 >t=10cm
(¥ z.350m) L= 5. 60+5. 00+3. 70+4. 60 = 18.90 18.9 m
A1=1/2x (1.29+1.78) x5.60 = 8.60
A2=1/2x (1.78+1.83) x5.00 = 9.03
A3=1/2x (1.83+1.83) x3.70 = 6.77
A= 1/2x (1.83+1.20) x4.60 6.97
A = 31.36 31.4 m2
ZiAvhY-+
(18-8-25BB) V= 31.36x%0.10 = 3.14 3.1 m3
3.14/31.36 = 0.100 0.100 m2
EABA V1= 1/2x (0. 20+0. 37) x5. 60 = 1.60
(RC-40) V2= 1/2 % (0. 37+0. 39) x5.00 = 1.90
V3= 1/2x (0. 39+0. 39) x3.70 = 1.44
V4= 1/2 % (0. 39+0. 17) x 4. 60 = 1.29
A = 6.23 6.2 m3
B th4t
(T7244pt=10) A= (1.29+1.83+1.20) x0.45 = 1.94 1.9 m2
XigT 2% [=18.9 = 18.90 18.9 m
(18-8-25BB)
HE#T 28 [=18.9 = 18.90 18.9 m
(18-8-40BB)
mokavoy—rzE| N= = 1 1 =
18-8-40BB
mokavsy—rze| N= = 1 1 =
18-8-40BB
Eavsy—+rT| A= 18.9x0.60x0.1 = 1.13 1.2 m3
18-8-25BB
t=10cm
/ALY —b
18-8-25BB t=10cm




fh % Mt T 8 & & &5 %
£ L1 R % B I # 2 | @
FhEEM T = 1
BRERHIEM T | i AR E—LAE H=1100 R/$>3m m 67.5
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sle = =
H 2 B &
38 = x|
2 W | g g | m
= = =
BERGIEMR T No. + 5.0/No. 5 + 8.5 & m 43.5
+rhEEA
AR E— LB No. + 8.0{No. 8 + 12.0| & m 24.0
H=1100 X/%>3m
& m 67.5
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WEIHE KX

A 7 A 1% B # =

WET = 1
KEIL (EH) BEZRET R (13) t=bcm m2 2,198 @
REL (H8) BEZRET RO (13) t=3cm m2 731 @
EBI| BEHMETZX22(20) t=bcm m2 2,198 ®
ERERET PIEFERAR M-30 t=15cm m2 2,198 @
TRERET BAEUILARSAR RC-40 t=35cm m2 2,198 ®
BREET BEYARA RC-40 t=10cm m2 731 ®

TREEET 2373 m 2,392

PRN-303 kv Fa— kA . 74

BIIERITANYILOHFHET (NITHhF—EERUL)
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HET i B =
2 1 H) = = B} 2 |HA| B E
®EI BHEMHETO)
(@amuEy 2 |[CADITES (F1) NO.O~NO. 3+14. 9fFif = 1,179.0
32 (13)) (sh) NO. 3+14.9~N0. 8
t=5cm 8.00x 125.1+17.9 = 1,018.7
(sh) NO. 10+17. 9~NO. 12
&% = 2.197.7| m ©)
(BEETHET 2 (FERET
2> (13) CADIZ&B (%) NO.1~NO. 314if 154.0
t=3om CADIZ&B (%) NO.3~NO. 3+14. 9fif 31.0
(Z) NO.3+14.9~N0. 4+13.6
3.28x18.7 = 61.3
(Z) NO.4+13.6~N0. 10
2.78x106. 4 = 295. 8
(%) NO.8~N0. 10
2.78%40.0 111.2
CADIZ&B (£) NO.8+10~NO. 104F3E = 78.0
a5 = 731.3 | mi @)
HEET HEHETL Q)
(@EammEy 2 |[CADISESD (F) NO.O~NO. 3+14. 9ff5E = 1,179.0
3> (20)) (sh) NO. 3+14.9~N0. 8
t=5cm 8.00x 125, 1+17.9 1,018.7
&5 = _ 21977 ©)
LERET HEHETLQ)
(HIFARA) |CADIZELB () NO.0O~NO.3+14. 94Fif = 1,179.0
M-30 t=15cm | (dh) NO.3+14.9~NO.8
8.00x 125, 1+17.9 1,018.7
&5 = _ 21977 @
TRERET BHESMET ()
(BEYHAREA) [CADIZES () NO.0~NO. 3+14. 9fFiF = 1,179.0
RC-40 t=35cm | () NO.3+14.9~NO. 8
8.00x 125, 1+17.9 1,018.7
&8 = 2197.7| o ®
(BEVARR) |SEMET REBI &5t&UY = 731.3
RC-40 t=10cm
a5 = 731.3 | mi ®
RERET |[ERISHEEQ LY
BRER 2391. 8 2,391. 8| ni
&5 = _ 2.391.8] ni
BIERTRYLS | REHERL Y
5% T PRN-303 |50. 0+12. 4+12.0 = 74.4 | m
(kyFa—H) a5t = 74.4 | mi

VIhS—R%ER
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R B R T 8% & & &t &
A 7 i 1% B # = | &
XE#RT = 1
B X ER E3E#  W=15cm m 591 ©
B W=15cm m 97 @
HE# W=30cm m 20 ®
BB W=30cm m 110 @
HE# (& 77 W=45cm m 214 ®
HE#R (KD - &85 - XF)W=15cmiE| m 336 ®
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sl E E
| = Zla =z
A & x| ‘ -
% 1 - B B % = i
B = 5
HEDRER
(BZE# W=15cm)|No. 0 + 9 4No. 1 + 7.1k m 17.7
No. 1 + 16.9{No. 4 + 15.5|fhg| m 69. 5
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23




M T BB KK
£ L1 iR % B G| #% = | 1 C:3
BT ERELT
KRR Fa—2 BT ) A=t H=400 N 10
KRR Fa—2FEBETI () A=t H=800 N 4
BEeH
RIFFEMFET | mE&RS GaiHK) SB-BVRIEMAULE & 44
MEZER IOy T
No1~No2+13.9
hEER IOy Y A¥E B120 xH120 m 37 B ARS
TRFRHRAIET £ 1
TR R IEEER T m 37
BRMT = 1
ERMBZETL m ¥ 14

24




Ry = -
B = R O£
% A i “legn 2|l m =
70 . 3] =
=] = A =
RAFa—VFBEI)
ALt H=400 ([No. O No. 0 + 10.0] &£ | =& 10
RAFI—VBEI(2)
Bh{+= H=800 No. 8 + 11.5|No. 9 + 11.5| & PN 4
FRFEREET
(B H) No. 1 No. 2 + 15.0| & 1@ 8 35.0m
w5t (BEfF=)
SB-BWEIZMmELE [No. 3 + 10.0|No. 10 p & 21 130.0 m
No. 8 No. 10 p & 9 40.0m
AN =
A A 1@ 44
MERER IOV ST
A%E B120xH120{No. 1 No. 2 + 14.0] & m 37 BRI HEFE
THRHEBAIEEERT
No. 3 + 9.9|No. 5 + 8.8] &£ m 37

25




MEIHE & G X
% g H % B f1 |3 = |

BEYHRET =% 1
BEYMEET o o)—k m 24 5
SHERBUEL| TRAI77ILREHE t=10cmAT m 1830.0
SRR TR T 7L REEE t=15emELTF m 45 8
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Bt = 0.94 | t
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